
 

Gaussian elimination w Sealed now pivoting
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Other pivoting strategies

apartial pivoting k.tn step choose i throwwllaihlk.ge it

simpler thansided row pivoting but only applicable if

faij I are about the same size

a complete pivoting k th step choose the largest laijl
and take it as pivot by switching rows and columns
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Gaussian elimination Can always bedone for diagonallydominant acts A

Therefore A is nosingular and has LU deconpo.itin

u Sided row pivoting would never do exchanges if isil were updated

every step
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you don't need to turn on pivoting for diagonally dominant matrix

Proofoftln.org It suffice to do Step I
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